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2. ivI N gYe sA
3. %1 N <0, di "HAPY gY2" [H-2 S21 244 U2Ig 8 U2 w1
4, fact=1,i=123s?l
5. i yell i <= n, s2:
o fact=fact*i
o i=i+1
6. fact M- s?l
7. ¥id
YuA HEII:
° GiBSA:0l=1u111=1
o df@seld: 49129 612 HI2 s SR
o qudif¥s: 1 2 n el oigl otz el

32l gls: "grye dldse glifRiadigs qu fie"
yed 1(c OR) [7 OJEI]
Gelsrel A1 RAldd 24 dAIg-4H=2 U221 4HMdl.

¥dIGL:

Rdaidda v 26id:

Y22 qeid Gelsel

== GHRIGIR 5==5(True)
1= G1R1642 il 51=3 (True)
> Hi2 7 >3 (True)

< i 2 <8 (True)

>= Hi2 AI GRIGHR 5>=5(True)
<= Al A2l 6121642 4 <=6 (True)

A2 VU2 26id:
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ASCII sia12114:

222 qeid Gelseel
= A AP x=5
+= [EE{RENETIER-EY X+=3(x=x+3)
= GIE S VA1 S2U X-=2(X=x-2)
*= STCIRERENEERERY X*=4 (x=x* 4)
/= Q19114 A s2 X/=2(x=x/2)
sis Gelsrel:
# Rdeda Hiued
a, b =10, 5
print(a > b) # True
print(a == b) # False
# AP HHued
x = 10
X +=5 # x 64 © 15
X *= 2 # x 64 © 30
44zl gls: "2icig gadI 2, YUl AU s2A"
yed 2(a) [3 afe]
sdliAI2 HI2 GuAIIi ddidi [Alde udlsi €11 14 €25 UdlsHl &g duil.
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dlR sdl dlgd yaied (21l
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/ Input/Output \ O Connector -——> Flow
\
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o 22I-sS [AGiic: aIdBis 2d HI=I HISIR
o 2y sdi: dl2i wiam-l [€2n €21id &

o difSs H10j; YiAuM difFs [G8YAAIF3 SAIMI HEE S2 ©

442 Zls: "2Mi-c wida [R5 gye sseal sal”

yed 2(b) [4 d1ei]

121 AIIRuuA] digfCisdiii fRicig s2l.

SdIGH:
26id:
dialCisdi qeid
uaifgd HYI(Ed yarai ugsl Mid g S
[GfgEd €25 UdIq 2uwe 2d cruifdd
gy 2l ALd| dgf gAY U
HIGay2 A AHIY As AHIG2y2
VABSIRS Ud1di A0 A 2ISYU ¢ldl SgA
sHaure A4dl £25 U2IdidI HIol s ¥ el

Yu digifCisdiil:

° 2adl: Gigll A1 F4Y2 HIZ A1 UReiH]
o SRIGHAI: RJAdH A4 A BRI AIEIAT GUidI

o AURdl: YHIYIHI V44 AHA S| 0

42l Zls: "wailed [Affd g-y2 AH1G2y2 2H1RsIRS AU 4"

yed 2(c) [7 dpel]
Al S21 Y@l 2% sdl HI2 AIdY S21 21gu-] GuAidl si.
FdIGH:

$21 2194 A1 26id:
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s21 Y@ s21 219y
(1) AsailSaHi [EgAid] v int

(2) opwR1d-l EdIRil & 5 4él bool
(3) HIGHIA G2 str

(4) Gis vidI-l Gid- float
(5) ¥is 2dlaq adgn float
(6) uikAAI ulRRild float
(7) [Genild 4 str

sis Gelsrel:

# S21 219y Gerszel

days = 7 # int
is_resident = True # bool
mobile = "9876543210" # str
balance = 15000.50 # float
volume = 523.33 # float
perimeter = 20.0 # float
name = "2l¢d" # str
Yy YEI:

e int: 2liel [Gi1 Yol 2ivaiii

o float: eeliel [cig 121 2iv1A]
e str: sl2aHi 252 S2

e bool: 4 True/False Y&

Hu2l gls: "yl sl 2o offda-”

yed 2(a OR) [3 3jel]

AY

1241 sisq »11G2yz elidl.

numl = 2+9*((3*12)-8)/10

print (numl)

¥AdIGi:

wdldidiR d1eidzl:
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numl = 2+9*((3*12)-8)/10

# g 1: 3*12 = 36
# udld 2: 36-8 = 28

# udd 3: 9*28 = 252

# udag 4: 252/10 =
# Udlg 5: 2+25.2 =

AIG2y2: 27.2

YuA HEINI:

25.2
27.2

e BODMAS [Fu: sia, 2AiSa, aiid11SIR, 2[RIISIR, 2410, GIEGIS]

o UiuRerR RilRis~: uddl siy, uss ojensi/eidlisiR

o ylRRIM 21gU; AI1ISIR AHIU2I44 SIRLI sdi2

442l gls: "sia IS @ilIsI2 2JRIISIR A1 GgIS]"

ved 2(b OR) [4 3jei]

Python #i Guaiaii daidi [Gfdg usieA1 viiuz2ai] 3R ciidl.

¥dIGi:

Python Jiiu2a 26id:

UsIR
ARIRs
da-I
dil¥sd
AiAIg4H2
(Giaigs
i3y

AIgsl22]

YU YEIil:

EIEEEY

+I “r *I /I %I **I //

== |= >, <, > &=
and, or, not
=, +:’ -=, *:’ /:

&l |I Al ~I <<r >>
in, notin

is, is not

o RANH[ES: 211[Gilds Hiuel-

o dddl 4RIl gadl 52 © 4 offdad U=d s2 ©

o dil¥sd: offGu- visAviel IS ©

Gelseel

5 > 3 = True

True and False = False

X += 5

5& 3 =1

'a' in 'cat' = True
x is y

4Rl gls: "R Es dai dif¥sd vailg--2 [Giadigas WioiR(Riy A1g5[22]"

yed 2(c OR) [7 31ei]
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Y52 GIRI EIVId SCAI GlEll e AVAIBAIA] BAIN] A A2 AILIAI HI2 NIATH FUil. FAIR Y32 siF 4dil2d dc12ui
Vi-22 52 IR Y232 U1l 2RI siguel g4y2 ddid 6igl S21 Ui AaAIN] 24 22l UelRid s?l.

FUIGI:
\
SsIS:
# Ud AWRAIRAI 41N A4 2121 2NUdlHl YA

total sum = 0

count = 0
print ("84 AWIRAI €Vid S2A (421[2d 2Usdl HIZ):")

while True:
num = float(input("auuliﬂﬂﬂ SR "))

if num < O:

break

total sum += num

count += 1

if count > 0:
average = total sum / count
print (£"¥dINi: {total sum}")
print (£"¥2202l: {average}")
else:
print ("sld g4 AW €vid s2aAAd eil")
Y Ye AL
e qu 52id: break 22eH-2 ¥12 while gu
o gdy2 df@seld: 1ifZd -iciaf Hi2 Us sl

* 2 gIR1 GPIISIR: FUIR SIF 612 EIVIE 4 AT €I IR 5 S

0l gls: "g-ye gu As Sesyde [Sad”

yed 3(a) [3 dei]
Gelcrel A1 while gu 24¥di.

¥AdIGi:

While qu 22s2:

while condition:
# statements

# update condition

GelsRel:
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# 1 el 5 Yyl Ao fie s?
=N
while i <= 5:
print(i)
i4=1
Yl Ye Al
o l-222s qu: vi[Sa3sYeld uddi Slsed As AR ©
* id gu FvIH: S[S2i4 AIuiR False ad] sig

o qu dRicid: qud] vie2 »1uS2 aqg S

qH2 gls: "wu1R S[Se14 1] i IR AS35Y2 52"

uad 3(b) [4 d1e1]
Y32 gl2l g4Y2 sd yells vl [S[RFadl 212a101 2iigal HI2 HiAM duil.
SdIGi:
sis:
# [S[Fa4i a=ainl eligdiHi WiuM
num = int(input("dWwIl €ud SR "))

original num = num
0

digit_sum

while num > 0:
digit = num % 10
digit_sum += digit

num = num // 10

print(f"{original num} 4l [S[E2-1 =il {digit_ sum} é")

YU YEI:
o HisRJdl iluReld: %10 diuzld el [S[2 siel
o g2z [S[dasA: /10 d1uld seal [S[F2 sa1di

o o1 el qu: [S[B221 Giis] 4 2 Ui Y&l A1 =M

42l gls: "siel GHRI ¢21d] YARIddH S"

yed 3(c) [7 2Lel]
Yase-[AaiRd §seid-l Gualidl s2ld 100 2il 10000 1 d2U1 HIHRI2I AGIRI ©Iudl HI2 YiAIH dvil.

¥AdIGi:

sis:
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def is_ armstrong(num):
"rrdole MRl ek © 5 A¢l ds st
original = num
num_digits = len(str(num))

sum powers = 0

while num > 0:
digit = num % 10
sum_powers += digit ** num digits
num //= 10

return sum powers == original

def print armstrong range(start, end):
"] 2RI AP Aol [ sttt
print (f"{start} i1 {end} 9l w2l dciai: ")

for num in range(start, end + 1):
if is_armstrong(num):
print(num, end=" ")

print()

# U YA
print armstrong range(100, 10000)
YU HEIAI:
o §seld S[§[Heid: def slas aiuld $sei-4 Gidid]
o ARfRI difFs: [S[F2aiHi a0 [SfF224H] 2iuviH] vidR el
o 3% §SeU: AU 2% 4G Y22 SR

4H2l 2ls: "[SsigA s sesyde s 2"

yed 3(a OR) [3 d]el]

dlRid1 U2 ©1udl 412 YiAIH duil.

4 3 21
321
2
1

H N W s U,
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# Yed MMil=2a1 Wiaum
for i in range(5, 0, -1):
for j in range(i, 0, -1):
print(j, end=" ")
print()

Yl Ye Al
o A2S Qi Gligl Gu R0 HIZ, vieRq sieM HI2
o Raai 3=¥: g291 412 range(start, stop, -1)
o [Bi2 $2id: 2U HI2 end="", newline 2 print()

42l gls: "clig vigad Ruai fi2"

ue- 3(b OR) [4 de1]

qe2s if...else 2242 A4wYI.
SdIGI:

W SY

if conditionl:
if condition2:
# statements
else:
# statements
else:
if condition3:
# statements
else:

# statements
GeleRel:

marks = 85

if marks >= 50:

if marks >= 90:

grade = "A+"
elif marks >= 80:
grade = "A"
else:
grade = "B"
else:
grade = "F"

print(f"ﬁs: {grade}")

Yy YEIA:
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o igad] 21Rdl: cil% if-else Hl vigz if-else
o Vs 2dRl: s 2dRi Yell 422 53l 2Isiy &

o dil¥sd sdi: vica-] 21Rdl $5d IR % 2ilS235Y2 &1 © AR Gligl ARl i

42l gls: "cligl vieRd vids adRA"

yad 3(c OR) [7 d|el]

[@224i n <ci2i €1vid sl AU statistics Hisejddi Guaidl s34 dudi mean, median 14 mode ellgdl Hi2i

HIAIN duil.
¥dIGi:

\
sis:
import statistics

# dilan-=24] vl gdye s?
n = int(input("Al@H-=2al vl gvid sA: "))

numbers = []

# -6l gye s?

for i in range(n):
num = float (input (f"46iR {i+1} €vid s2A: "))
numbers.append (num)

# Vlissiela dleli
mean_val = statistics.mean(numbers)

median val = statistics.median(numbers)

try:
mode_val = statistics.mode(numbers)
except statistics.StatisticsError:
mode_val = "slg Y[is mode -il"

# uReiMi ealigi
print (£"-6id: {numbers}")
print (£"Hl4: {mean_val}")
print(f"ﬁ@ﬂ&: {median val}")
print(f"ﬁB: {mode_val}")
Yy YEIAI:
o Statistics HisJd: AHisSISIU §sel HI2 [Gice-g- Hisyd
o[22 gay2: wiaildior Hi2 [AeHi oiaf 22l? 2

o isaArald &s[Ad1: mode Scsydel il &-sd sl

Hu2 gls: "guie g4ye sesyde [sad”
yed 4(a) [3 dyel]
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Python Hi for gu ¥4 while gu g2l dslad @vil.
SdIGH:

ddl 26id:

sluR For qu While qu
éq 1eildi YRuidd-] AR YA
RiRs for var in sequence while condition
glARiaaig3eld Hizivles Hyd
us2 Ai2MfRs HJAd
Guaial sASeI- UR YAR1ddH 2ld el Y21dd
Gelsell:
# For QU
for i in range(5):
print(i)
# While qu
i=0
while i < 5:
print(i)
i+=1

H4u3] gls: "For weildl While »A4x121"

yed 4(b) [4 2]
A1 %issl Giidi.

SdIGH:

SRV ORIE

A. If statement — 3. 2issy R2[d41 AHIUIR SiSHI Gdisd 21Rd1d1R AdIUd] HIZ2 YUJIY &

B. While loop — 1. > ¢l sigf dissat R2[d Yzl 21 i el sisAI odisd diRdi ydId ©

C. Break statement — 5. ddHi- U 2HId S2 & ¥ HIRIAI YARAdd- dR§ HPIO dgl &

D. Continue statement — 2. dcHI- YAR1dd-4 AU € A AHPINAI S dRS A1 dgl &
YR YEIAL:
* If Statement: 2idldI2 2i(sas53Y2I4

e While Loop: 2i2d 212l y+2id(dd (52352421

e Break: guniall 2iypl cieiR Hlsol
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e Continue: M3 ddHI4 Y2IddH ©IS]

4u2l gls: "If e1Rdi While y-2idd- Break 6i¢ik Continue ©is1"
yed 4(c) [7 2]

Gelcell Heeai] 4l dsiad Audi:
a) Argument and Parameter
b) Global and Local variable

¥dIGL:

a) Argument vs Parameter:

N

def greet(name, age): # name, age Ganfledd ©
print (£"3di {name}, dqI3] GH2 {age} o¥ ©")

greet("2A¥", 20) # "AX", 20 AHPYH2A &
b) Global vs Local Variable:

x = 10 # Global variable

def my_ function():
y = 5 # Local variable
global x
x = 15 # Global variable A GEG%
print(f"Local y: {y}")
print (f£"Global x: {x}")

my_ function()
print (f"déR Global x: {x}")

dd-I 26id:

UsiR asiy visAy Gelerel
Parameter $seld S(sldel4 H&I HOd & def func(param):
Argument $seld sid YR U 52 8 func (argument)
Global I YiAM Gl x = 10

Local $seI4] A€ YIo §SeIHI S$Sel4Hl y = 5

42l gls: "Uznileal Hnd 41931221 Ul s2 Globals i€l Locals §sei"

yad 4(a OR) [3 d]el]

Al 222321 11G2Y2 duii.
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CCIAR
sis [Gedver:
import math
(i) print(math.ceil(-9.7)) # 1Geye: -9
(ii) print(math.floor(-9.7)) # IGayz: -10
(iii) print(math.fabs(-12.3)) # 3iIG2y2: 12.3
AHYdl:
[
e ceil(-9.7): Ceiling A¥s- integer ¥yl Gu2 52 & = -9
e floor(-9.7): Floor 4¥s-l integer &l 12 s2 & = -10
o fabs(-12.3): Absolute value 42i2d diigd €2 52 & = 12.3
YU YEI:

e Math Module: 211{Gil[ds $sei- HI2 g2 %33

\

o d9Il2d dciai: Ceiling 214 floor 49124 a1el @21 31d S1M $2 ©
* Absolute Value: é4e2ll Ui[3[2d Y& ud s2 &

43 gls: "Ceiling Guz Floor 13 Absolute Uif3[29"

yed 4(b OR) [4 3jeI]

Function I SIJAEI @uil.

FUIGH:
SIJAEI 26iE:
SIJAEI qeid
sis 2yasfeifazl AsdIR AU, geildiR 91U
HisjaiRe] et AHAIRAIM 11 &d1Ii [dedifFd s2]
A0 [Sail5id1 el ardIel] 2ligl i 8ls s?i
sis HIdi1g32I ag A1 HIN] A4 diddigmdl
dg-2dGilazl UYS2 i HIlSsI1 524 24R:)
sl2dadi a12isdl $[2d U2l 420 Gi19]
Yy SIAEINAI:

e YdR1ddd 21011: 5312l d % sis avial-l %32 el
o 2lH sidciiReld:; 24E21 A2 dIS] AA2] 5211 UR SIH S3 215 &

o 2[R0I: €35 $50I44 2dd 3d 222 S3 2ASIY B
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qu2 gls: 2133 HisyAR [SGHo1 AI2TH1g3 He2- el2IS”

yed 4(c OR) [7 djel]

([Gic2 g §sel-dl GUAIdI sl (A1 vid [Ga24i A2l il 244 A2l Hi2 d6i2 2ligdl H12 YIAI1H Ei.
SUIGH:
sis:

# [Gle-gd ssel [Adl Aiall AiHi 44 Hi2l 2migdil WA

def find min max(numbers):
" (Ge-gd $seld (Il minimum ¥4 maximum el "
if not numbers:

return None, None

smallest = numbers[0]

largest = numbers[0]

for num in numbers[l:]:
if num < smallest:
smallest = num
if num > largest:

largest = num
return smallest, largest

# gd4ye [dee
n = int(input("Al@H-=2al vl guid sA: "))

numbers = []

for i in range(n):
num = float (input(£"46iR {i+1} €vid s2A: "))

numbers.append (num)

# min ¥4 max 2Nl

min num, max_num = find min max(numbers)

print(f"@eez {numbers}")
print (£"ale] AiHi -6i2: {min_num}")
print (£"¥lel Mi2l -6ik: {max_num}")
YuA HEINI:
o A=Y snilRas4: min()/max() 1 ¥oUIRA if 21cllHI Gulial s
o dR¥cd glhlRiadigas si: usdl 2A(dn-22] 213 s?i
* Qu g €25 lA-=2d ddHi4 min/max 12 sWR s2

J4u2 2ls: "g[ARIudIgas s AuS2 [Re"

yed 5(a) [3 a1el]
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Python Hi list #1241 sort() 214 sorted() ¥2is a2l dgldd A4ai.

¥dIGi:

ddl 26id:

glaR sort()
Rad 219u None (AHIR[Rd oied )
AHIRRd (G2 g4 oied ©
Guiol list.sort()
Huz2l siigiH
Gelsrell:

# sort() Hes

listl = [3, 1, 4, 2]
listl.sort()

print(listl) # [1, 2, 3, 4]

# sorted() $seld

list2 = [3, 1, 4, 2]

new_list = sorted(list2)

print(list2) #13, 1, 4, 2] (»ulRaldd)
print(new_list) # [1, 2, 3, 4]

H442l 2ls: "Sort cied © Sorted ci4id "

U 5(b) [4 d)ei]

Gelszel 12 Python Hi [R2214 21dai s2al] (Glda d auwmai.
SdIGH:

@221 21add Hasa:

1. For gy drugl4:

text = "Python"
for char in text:

print(char, end=" ") # Py t h on
2. 955 dIylA:

text = "Python"
for i in range(len(text)):
print(text[i], end=" ") # P y t h on
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3. While gu aiul-:

text = "Python"

i=0

while i < len(text):
print(text[i], end=" ")
i+=1

4. Enumerate diu3l4:

text = "Python"
for index, char in enumerate(text):
print(f"{index}:{char}", end=" ") # 0:P l:y 2:t 3:h 4:0 5:n

443l 2ls: "For g-5sa While Enumerate”

yed 5(c) [7 de]
13 2inial [R5 211G2yz2 vil.

¥dIGL:

T (CEATERVIEEN TR B

(1) s = "Hello, World!"
print(s[0:51]) # ¥1G2y2: Hello

(2) 1st = [1, 2, 3, 4, 5]
print(lst[2:4]) # viBeye: [3, 4]

(3) s = "python"
print(len(s)) # v1G2y2: 6

(4) 1st = [5, 2, 3, 1, 8]
lst.sort() # lst 64 © [1, 2, 3, 5, 8]

(5) s1 = "hello"
s2 "world"

print(sl + s2) # ¥11G2Yy2: helloworld

(6) 1st = [1, 2, 3, 4, 5]
print(sum(lst)) # 1G2y2: 15

(7) s = "python"
print(s[::-1]) # ¥IB2Yy2: nohtyp

YU YEIl:
o 2dIFRII: [start:end] AciRpo1/x6i[G2 S ©

o 3291 d: len() Ses22] vl Ud S2 ©
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o [@22 Ail2o1: sort() [dred g4-1@ cied &

\

o [R21 s5242ld: + AU 204 %S &
e Sum §seld: oiell (A2 i[EH-2 GHR ©
e Rud 2a1g@a1: [1:-1] [[isu-d Gaz2ld &
\

442 2ls: "2digy A Hid sS22 uY Rud"

yed 5(a OR) [3 dje1]
Python di type conversion 2i4di.

¥AdIGi:

219U S-A3d 26id:

219y §seld

int() gJ[2¥Mi 59 S2

float() sdieMi 598 s2)

str() [@o1Mi 54 2

bool() 6i[da-Hi s-a2 s?l

list() [AeMi 598 s2
Gelervll:

# Implicit conversion

x =5+ 3.2 # int + float = float (8.2)

# Explicit conversion
num_str = "123"
num_int = int(num _str) # "123" - 123
\
HWwI YAl

e Implicit: Python AIViHIY 5-d2 523 &

e Explicit: W2 Hyd] $sei diuld s-u2 s

\ \ (4 N (4 \ \
o 219y Asel: S2dIS S5 2 A 215 &

42l gls: "Implicit 2A1ul41U Explicit 4jAa"

U 5(b OR) [4 d)e1]

Gelsel

int("5") —5
float("3.14") — 3.14
str(25) — "25"
bool(1l) — True

list("abc") — ['a''b','c']

Gele2el 12 string U sS2deld id Ydriddd siHaillH dumdl.

¥dIGL:

(3221 viu2l-A:
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1. s5242d (+):

strl = "Hello"
str2 = "World"
result = strl + " " + str2

print(result) # Hello World

# vl@ud s-s2deld

name = "Python"
version = "3.9"
info = "Language: " + name + " Version: " + version

print(info) # Language: Python Version: 3.9
2. y4R1dd (*):

text = "Hi! "
repeated = text * 3
print(repeated) # Hi! Hi! Hil!

# Ued ci-iag

pattern = "-" * 10
print(pattern) # —-—--———--—-

YU YEIil:
o sS2deld: + dIuld R0 IS ©
o Yd1ddd: * diudld [R2214 n guid Rulz s2 &

o uRddHla: HIR[RF4d [22x AHuRaldd 28 &

q4u2l 2ls: "Plus %S Star [Rule s2"

U4 5(c OR) [7 djei]

2AGEHINIHI 2UR, RI%, HUSA, diAEA eIl vl d1eid] uelRid s2d1 HI24l MiAIH dul.
BUIG:
sis:

def analyze string(text):

"rrdde seseR usiRl HIZ (2214 [dedwel s2A" "

vowels = "aeiouAEIOU"

vowel count = 0

1
o

consonant_count

Il
o

uppercase_count

lowercase_count = 0

for char in text:

if char.isalpha(): # 52522 icsici2 © § 4] s s?
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if char in vowels:
vowel count += 1
else:

consonant_count += 1

if char.isupper():
uppercase_count += 1
elif char.islower():

lowercase_count += 1

return vowel count, consonant count, uppercase count, lowercase count

# g4ye (22
text = input("[Pd €vd sA: ")

# [R221 [Gedvel s

vowels, consonants, uppercase, lowercase = analyze string(text)

# uReiMl ealidi

print(f"ﬁéﬂ: "{text}'")
print(f"d2: {vowels}")

print (f"®i¥4: {consonants}")
print(f"bmeéaz {uppercase}")
print(f"GﬁbR%H: {lowercase}")

g,

HwI HEl

ot
£

o 53se? sdllRif§seld: isalpha(), isupper(), islower() 41 Guaiiol s2i
o 242 As: 292 [22o1 A2 sWR s2
o qu yIRIfREI €25 S5 @lSdoid Ad s s

Hu2l 2ls: "dUs sdlldsiu sIG= [Sag"

No. 22 /22



	પ્રશ્ન 1(a) [3 ગુણ]
	પ્રશ્ન 1(b) [4 ગુણ]
	પ્રશ્ન 1(c) [7 ગુણ]
	પ્રશ્ન 1(c OR) [7 ગુણ]
	પ્રશ્ન 2(a) [3 ગુણ]
	પ્રશ્ન 2(b) [4 ગુણ]
	પ્રશ્ન 2(c) [7 ગુણ]
	પ્રશ્ન 2(a OR) [3 ગુણ]
	પ્રશ્ન 2(b OR) [4 ગુણ]
	પ્રશ્ન 2(c OR) [7 ગુણ]
	પ્રશ્ન 3(a) [3 ગુણ]
	પ્રશ્ન 3(b) [4 ગુણ]
	પ્રશ્ન 3(c) [7 ગુણ]
	પ્રશ્ન 3(a OR) [3 ગુણ]
	પ્રશ્ન 3(b OR) [4 ગુણ]
	પ્રશ્ન 3(c OR) [7 ગુણ]
	પ્રશ્ન 4(a) [3 ગુણ]
	પ્રશ્ન 4(b) [4 ગુણ]
	પ્રશ્ન 4(c) [7 ગુણ]
	પ્રશ્ન 4(a OR) [3 ગુણ]
	પ્રશ્ન 4(b OR) [4 ગુણ]
	પ્રશ્ન 4(c OR) [7 ગુણ]
	પ્રશ્ન 5(a) [3 ગુણ]
	પ્રશ્ન 5(b) [4 ગુણ]
	પ્રશ્ન 5(c) [7 ગુણ]
	પ્રશ્ન 5(a OR) [3 ગુણ]
	પ્રશ્ન 5(b OR) [4 ગુણ]
	પ્રશ્ન 5(c OR) [7 ગુણ]

